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10 2 001 2 021
/ / ko
7172 104 111 115 72
2 001 8/6 10/4 1 1Y 1,7 2 89.6
8/ 17 10/4 1 1Y 14 38 904
7/ 26 9/31 11 1 50 7@
2011 8/5 9/20 1114 510 779
8/ 16 9/30 1114 677 819
7 162 9/21 10/ 3 259 8 &
2 021 8/6 9/21 1 034 209 87.7
8/ 16 9/28 1 031 1,7 % 86.0
[m]
2,600 . — 100 2,600 * 100
2400 | . 1 2400 [
2200 | o ] 28 2200 | M ¢ %
2000 T 2,000 [ 80
1,800 17 g 1800 | 70
1,288 i 160 = 1600 f 60
A00 1 = 1400 [
1,200 | 20 1200 | 50
1,000 140 1,000 | 40
800 |- 130 800 I 30
600 | 1 600 I
200 | 110 200 |- 10
0 0 0 0
2010 202
8/ 6 8/ 6
2 021
1 1 1
2 2 28 16 42
21 36 x
8 b 924 102 o x
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